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th& 2@l A AD //EF // BC & w, EF 9] do|=?

A ,—1O~\\R
4/
g/E P i
l
B

~ _ -

Q

O 12 @14 ® 15 @ 16 ® 17

B

WA EP 9] dol& o},
BE:BA=EP:AD,6:10=EP: 10
~EP =6

1231 PF 9] doj&=
DF:DC=PF:BC,4:10=PF:20
~PF=38

wr2hA] EF = 14




D)36 cm @ 37cm @ 38cm

@ 39cm ® 40cm

AE = q &1 519
——  22X2 +14X2a 22+ 14

GH = =1
% + 2a 2 8(cm)
— 18X 14 % 1 14
EF = at a_ls+1d_ 16(cm)
a+ta 2
22 18 22+ 18
1J= atioxa 22t15 20(cm)
a+a 2

1J + EF = 20 + 16 = 36(cm)
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¢} oFBCG 9] Wolo] H|& vt =27 gt A ‘
D

29

(F, QL sAFG Y RFAZFHom P/ Q@ \q
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BC 9] 342 M o= s A
AQ:QP=AP:PM=2:1 '
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PM = %ﬁ = gQP FG
AQ:QP:PM=2QP: QP :PM = B M

AADE 00 AAFG 00 AABC )1 11 §-3-H| 7}
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HIIZ 4:6:9 °o]H Yo|o] H|= 42 :62: 92 o]t}
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10. AABC 9|4 A& AB, BC, AC 9] £H9|F, D, Eo|1, A2 AD, BE
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ABCE A 5892 A ¢4, HD = —~EC

J— 11— —
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oDEGH = %AFDE = x AABC = %AABC
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ACDE = iAABC
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AAEC = - x AADC
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N Ot

=—X§XAABC

[S38

4
= E x AABC

4
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12. & 194 A D, E, F= 22 BC, CA, AB 9] &% o|tt. AADF
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©H

o] {ol7} 5em? € wf, oBDFC ¢ Hol+&?

A
D
B E C
@ 12cm? @ 13cm? ® 14cm?
@ 15cm? ® 16cm?

o] Yol
4 x AADF = 4 X 5 = 20(cm?) o]t}
wtalq oBDFC 9] Yol 20 - 5 = 15(cm?) ©| .

AADF = ABED = ADEF = AFEC (SSS &%) |22 AABC




13. o2 2994 D= AB 9 8|2 F &= DC o F4oltt. FE = 2cm

,EC =3cm ¥ 4], AF + BE 2] do|x?
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ZCr\n

B E3em C
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ShH,

i) DG = 2EF = 4(cm)

AE = 2DG = 8(cm)

- AF =8-2 = 6(cm)

ii) DF : FC = EG : EC °|2&, EG = 3(cm)
AD :BD =BG : EG °|2%, BE = 6(cm)

.. AF + BE = 12(cm) ©]t}.




14. & JHA AE: EC =2:1 9|2 AD = DB, BE = 16cm ¥

GE 9] hol?

A

LN,

tl

@ 4cm @ 5cm @ 6cm @ Tcm ® 8cm
A
H
jD
D & Ayl BE ¢ B33t AEo] AC ¢ ¥ht= HS H 2 5HH
AABE oA AD = DB, DH//BE °©|B& 4Ztg o] Zd A2

ﬁ:ﬁ,ﬁ:%ﬁ:&cm)

ACDH |4 GE //DH, CE = EH ©|2& 479
g8 9] oo o]
GE = %ﬁ:4(cm) o|t},




15.

AABC o4 AD ¢} BE & %A4lo]tt. AD//EF ©]31 GD = 6cm &
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A
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16. o5 1”3} 22 AABCOIA tha-& otoleh

A
D
B Benh G
C

(1) DF ¢] do]

(2) DG ¢} Zo]

(3) FG ¢] o]
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> HE: ()4em
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(1) AAEC ] DF = %E = % -8 =4(cm)

(2) ABGD ¢4 DG = 2EC = 2 - 8 = 16( cm)
(3) FG = DG - DF = 16 — 4 = 12(cm)




